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The price of each ounce of gold S1 The price of each ounce of 

gold in basic scenario 

The dollar price S1 The dollar 

price in basic 

scenario 



 

 
1370 

 

 

 

 

Total index of Tehran Stock Exchange S2 

 

Total index of Tehran 

Stock Exchange basic 

scenario 

 

Oil revenue S1 

 

Oil revenue S3 

 



 

 
1371 

 

 

. 
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of gold (dollar) basic 

scenarion 

The price dollar S3 The price 

dollar 

basic 

scenario 



 

 
1372 

 

 

 



 

 
1373 

  

  

  

  

  

       

   

 



 

 
1374 

𝑃𝑡 = 𝛽0 + ∑ 𝛽𝑖𝑃𝑡 − 𝑖 +  𝛾𝑋𝑡 + 𝜀𝑡

𝑠

1=𝑙

𝑒𝑡
2 =  𝛼0 +  ∑ 𝛼𝑗𝜀𝑡−𝑗

2

𝑞

𝑗=1

+ 𝜆𝑧𝑡 + 𝑣𝑡

 

𝜎𝑡
2 = 𝛼0 + 𝛼1𝑢𝑡−1

2 + 𝛽𝜎𝑡−1
2 + 𝜆𝑢𝑡−1

2 𝐼𝑡−1

𝜎𝑡
2 = 0.5 + 0.7𝑢𝑡−1

2 + 0.2𝜎𝑡−1
2 + 0.17𝑢𝑡−1

2 𝐼𝑡−1

𝜎𝑡−1
2 𝑢̂𝑡−1 = ±0.5 𝜎𝑡

2

𝜎𝑡
2
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𝑙𝑛( 𝜎𝑡
2) = 𝜒 + 𝛽 𝑙𝑛( 𝜎𝑡−1

2 ) + 𝛾
𝑢𝑡−1

√𝜎𝑡−1
2

+ 𝛼[
|𝑢𝑡−1|

√𝜎𝑡−1
2

− √
2

𝜋
]

𝑦𝑡 = 𝜇 + 𝛿𝜎𝑡−1 + 𝑢𝑡  

𝜎𝑡
2 = 𝛼0 + 𝛼1𝑢𝑡−1

2 + 𝛽𝜎𝑡−1
2

δ

δ

  

  

 

  

  

  

  

  

  

 

 



 

 
1376 

 

 

 

 

 

 



 

 
1377 

  

 

 

 

 



 

 
1378 

 

 

 

 

 



 

 
1379 

 

 

 

 

 

 

 



 

 
1380 

 

 

 

 



 

 
1381 



 

 
1382 

 

 

 

 

 

 



 

 
1383 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://doi.org/10.1016/j.najef.2019.01.011


 

 
1384 

 

 

 

 

 

 

 


